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‚◊ÿ — 3 
1
4  ÉÊá≈U  

¬ÍáÊÊZ∑§ — 40 

ŸÊ≈U — ‚◊Ë∑§⁄UáÊÊ¥ ∑§Ê •Êfl‡ÿ∑§ ‡ÊÃÊZ ‚Á„UÃ ‚¢ÃÈÁ‹Ã M§¬ ◊¥ Á‹Áπ∞ –  

 ¬⁄UËˇÊÊÁÕ¸ÿÊ¥ ∑§ Á‹∞ ‚Ê◊Êãÿ ÁŸŒ̧‡Ê —  
 GENERAL INSTRUCTIONS TO THE EXAMINEES : 

 1. ¬⁄UËˇÊÊÕË¸ ‚fl¸¬˝Õ◊ •¬Ÿ ¬˝‡Ÿ ¬òÊ ¬⁄U ŸÊ◊Ê¢∑§ •ÁŸflÊÿ¸Ã— Á‹π¥ – 
  Candidate must write first his / her Roll No. on the question 

paper compulsorily. 
 2. ¬˝‡Ÿ ¬òÊ ∑§ Á„UãŒË fl •¢ª̋¡Ë M§¬ÊãÃ⁄U ◊¥ Á∑§‚Ë ¬˝∑§Ê⁄U ∑§Ë òÊÈÁ≈U / •ãÃ⁄U / Áfl⁄UÙœÊ÷Ê‚ 

„UÙŸ ¬⁄U Á„UãŒË ÷Ê·Ê ∑§ ¬˝‡Ÿ ∑§Ù ‚„UË ◊ÊŸ¥ – 
  If there is any error / difference / contradiction in Hindi and 

English versions of the question paper, the question of Hindi 

version should be treated valid. 

 3. ‚÷Ë ¬˝‡Ÿ •ÁŸflÊÿ¸ „Ò¥U – ¬˝‡Ÿ ∑˝§◊Ê¢∑§ 23 fl 24 ◊¥ •ÊãÃÁ⁄U∑§ Áfl∑§À¬ „Ò¥U – 
  All questions are compulsory. Question Nos. 23 and 24 have 

internal choices. 

 4. ¬à̋ÿ∑§ ¬˝‡Ÿ ∑§Ê ©UûÊ⁄U ŒË ªß¸ ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ „UË Á‹π¥ –  
  Write the answer to each question in the given answer-book only. 
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 5. Á¡‚ ¬˝‡Ÿ ∑§ ∞∑§ ‚ •Áœ∑§ ‚◊ÊŸ •¢∑§ flÊ‹ ÷Êª „Ò¥U, ©UŸ ‚÷Ë ÷ÊªÙ¥ ∑§Ê „U‹ ∞∑§ ‚ÊÕ 
‚ÃÃ˜ Á‹π¥ – 

  For questions having more than one part carrying similar marks, 

the answers of those parts are to be written together in 

continuity. 

 6. ¬˝‡Ÿ ∑˝§◊Ê¢∑§ 1 ∑§ øÊ⁄U ÷Êª ( i, ii, iii ÃÕÊ iv ) „Ò¥U – ¬˝àÿ∑§ ÷Êª ∑§ ©UûÊ⁄U ∑§ øÊ⁄U 
Áfl∑§À¬ ( A, B, C ∞fl¢ D ) „Ò¥U – ‚„UË Áfl∑§À¬ ∑§Ê ©UûÊ⁄UÊˇÊ⁄U ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ 
ÁŸêŸÊŸÈ‚Ê⁄U ÃÊÁ‹∑§Ê ’ŸÊ∑§⁄U Á‹π¥ —  

  There are four parts ( i, ii, iii and iv ) in Question No. 1. Each part 

has four alternatives A, B, C and D. Write the letter of the correct 

alternative in the answer-book at a place by making a table as 

mentioned below :    

  ¬̋‡Ÿ ∑̋§◊Ê¢∑§  
Question No. 

‚„Ë ©UûÊ⁄U ∑§Ê ∑˝§◊ÊˇÊ⁄U 
Correct letter of the 

Answer 

 

 1. (i)    

 1. (ii)   

 1. (iii)   

 1. (iv)   

1. (i) ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ Á∑§‚ •Á÷Á∑˝§ÿÊ mÊ⁄UÊ ∞ÁÕ‹ ∞◊ËŸ ¬˝Ê# Ÿ„UË¥ „UÊÃÊ „ÒU ?  

  (A) ◊Áá«Uÿ‚ •Á÷Á∑˝§ÿÊ  (B) »§Ê◊À̧«UÊÚÁÄ‚◊ ∑§Ê •¬øÿŸ  

  (C) ∑§Á≈¸Uÿ‚ •Á÷Á∑˝§ÿÊ  (D) „UÊÚ»§◊ÊŸ •Á÷Á∑˝§ÿÊ –  

  Which of the following reactions would not give ethyl amine ?  

  (A) Mendius reaction (B) Reduction of formaldoxime 

  (C) Curtius reaction (D) Hofmann reaction. 1
2   
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 (ii) ∞◊ËŸÊ ‚◊Í„U ∑§Ë •ê‹Ëÿ ¬˝∑Î§ÁÃ Œ‡ÊÊ¸Ÿ flÊ‹Ë •Á÷Á∑˝§ÿÊ „ÒU  
  (A) RNH 2  + NOCl  →  RCl + N 2  + H 2 O  

  (B) RCH 2 NH 2  + HNO 2  → RCH 2 OH + N 2  + H 2 O 

  (C) RNH 2  + HOH  →  R
≈
N H 3 OH  

  (D) RNH 2  + 2Na  →  2RNHNa + H 2 .  

  The reaction showing acidic nature of amino group is  

  (A) RNH 2  + NOCl  →  RCl + N 2  + H 2 O 

  (B) RCH 2 NH 2  + HNO 2  → RCH 2 OH + N 2  + H 2 O 

  (C) RNH 2  + HOH  →  R
≈
N H 3 OH  

  (D) RNH 2  + 2Na  →  2RNHNa + H 2 . 
1
2   

 (iii) ãÿÍ≈̨UÊÚŸ ∑§ ©Uà‚¡¸Ÿ ‚ ¬˝ÊåÃ ŸÊÁ÷∑§Ëÿ •Á÷Á∑˝§ÿÊ „ÒU  
  (A) 

27
13

  Al + 
4
2
  He  →  

30
15

  P (B) 
12
 6

  C + 
1
1
  H  →  

13
 7

  N 

  (C) 
30
15

  P  →  
30
14

  Si (D) 
24
11

  Na  →  
24
12

  Mg. 

  Nuclear reaction accompanied with emission of neutron is  

  (A) 
27
13

  Al + 
4
2
  He  →  

30
15

  P (B) 
12
 6

  C + 
1
1
  H  →  

13
 7

  N 

  (C) 
30
15

  P  →  
30
14

  Si (D) 
24
11

  Na  →  
24
12

  Mg. 1
2   

 (iv) ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ‚’‚ •Áœ∑§ •SÕÊß¸ ŸÊÁ÷∑§ „ÒU  
  (A) 

10
 5

  B (B) 
10
 4

  Be 

  (C) 
14
 7

  N (D) 
16
 8

  O. 

  Which of the following nuclei is most unstable ?  

  (A) 
10
 5

  B (B) 
10
 4

  Be 

  (C) 
14
 7

  N (D) 
16
 8

  O. 1
2   
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2. ¬˝ÊÕÁ◊∑§ ∞À∑§Ê„UÊÚ‹ ∑§Ê •ÊÚÄ‚Ë∑§⁄UáÊ ∞ÁÀ«U„UÊß«U ◊¥ ∑§⁄UŸ „UÃÈ ¬ÿ̋ÈÄÃ •Á÷∑§◊¸∑§Ê¥ ∑§ ŸÊ◊ 

’ÃÊß∞ –  

 Name the reagents used in the oxidation of primary alcohol to an 

aldehyde. 1
2   

3. ÀÿÍ∑§Ê‚ •Á÷∑§◊¸U∑§ ÄÿÊ „ÒU ?  

 What is Lucas reagent ?  1
2   

4. ∑§Ê‹ÊÚß«UË Áfl‹ÿŸ ◊¥ ©U¬ÁSÕÃ ∑§Ê‹ÊÚß«UË ∑§áÊ •ë¿U •Áœ‡ÊÊ·∑§ „UÊÃ „Ò¥U – ÄÿÊ¥ ?   

 Colloidal particles present in colloidal solution are good adsorber. 

Why ? 1
2   

5. ¬ŸË⁄U Á∑§‚ ¬˝∑§Ê⁄U ∑§Ê ∑§Ê‹ÊÚß«U „ÒU ?  

 Name the type of colloid of cheese. 1
2   

6. 
14
 6

  C  ∑§Ê ˇÊÿ Á∑§‚ ¬˝∑§Ê⁄U „UÊÃÊ „ÒU ? ŸÊÁ÷∑§Ëÿ •Á÷Á∑˝§ÿÊ ŒËÁ¡∞ ∞fl¢ ©Uà‚Á¡¸Ã ∑§áÊ ∑§Ê 

ŸÊ◊    ’ÃÊß∞ – 

 How does 
14
 6

  C decay ? Give nuclear reaction and the name of emitted 

particle. 1 

7. ‚◊Í„U ¬˝ÁÃSÕÊ¬Ÿ ÁŸÿ◊ ÄÿÊ „ÒU ? •ÊflÃ¸ ‚Ê⁄UáÊË ∑§ ‚◊Í„U 1 ∑§Ê ∞∑§ Ãàfl β
 –
  ∑§áÊ ©Uà‚¡¸Ÿ 

∑§⁄UÃÊ „ÒU – ‚¢ÃÁÃ Ãàfl ∑§Ê ‚¢’¢œ Á∑§‚ ‚◊Í„U ‚ „UÊªÊ ?  

 What is the group displacement law ? An element belonging to  

group 1 of periodic table decays by emission of β
 –
  particle. To which 

group will the daughter element belong ?  1 
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8. ∑§ÊÚŸ-ß¢ªÊÀ«U-¬̋‹ÊÚª ∑§ •ŸÈ∑˝§◊ ÁŸÿ◊ mÊ⁄UÊ C 4 H 4 O 4  •áÊÈ ‚ÍòÊ ∑§ E/Z ÖÿÊÁ◊ÃËÿ 

‚◊ÊflÿÁflÿÊ¥ ∑§ ‚¢⁄UøŸÊ ‚ÍòÊ •Ê⁄UÁπÃ ∑§ËÁ¡∞ ∞fl¢ ¬„UøÊÁŸ∞ –  

 Employing Cahn-Ingold-Prelog sequence rule, draw structural formula 

of E/Z geometrical isomers of molecular formula C 4 H 4 O 4 .  1 

9. 2-Ä‹Ê⁄UÊéÿÍ≈UŸ ∑§ ¬˝ÁÃÁ’ê’ ‚◊ÊflÿÁflÿÊ¥ ∑§Ê R •ÊÒ⁄U S ÁflãÿÊ‚ ÁŸœÊ¸Á⁄UÃ ∑§ËÁ¡∞ –  

 Assign the R and S configuration to the enantiomers of 

2-chlorobutane. 1 

10. ÁŸêŸÁ‹ÁπÃ ÿÊÒÁª∑§Ê¥ ∑§ •Êß¸0 ÿÍ0 ¬Ë0 ∞0 ‚Ë0 ¬hÁÃ ∑§ ŸÊ◊ Á‹Áπ∞ — 

 (i) CH 3 OOCCH 2 CH ( ) OCH 3   CH 2 CHO 

 (ii) CH 3 CH ( ) NH 2   CH 2 CH ( CHO ) CN. 

 Name the following compounds according to IUPAC system :  1
2  + 12  = 1 

 (i) CH 3 OOCCH 2 CH ( ) OCH 3   CH 2 CHO 

 (ii) CH 3 CH ( ) NH 2   CH 2 CH ( CHO ) CN. 

11. •Êß‚Ê¬˝ÊÁ¬‹ ∞À∑§Ê„UÊÚ‹ •ÊÒ⁄U ‹ÒÁÄ≈U∑§ •ê‹ ∑§ ‚¢⁄UøŸÊ ‚ÍòÊ ’ŸÊß∞ – ÿ„U ÷Ë ‚àÿÊÁ¬Ã 

∑§ËÁ¡∞ Á∑§ ¬„U‹Ê ÿÊÒÁª∑§ •Á∑§⁄U‹ ÃÕÊ ŒÍ‚⁄UÊ Á∑§⁄U‹ „ÒU –  

 Draw structural formulae of isopropyl alcohol and lactic acid. Also 

verify that the former is achiral and later is chiral. 1 

12. »§ËŸÊÚ‹ ∑§Ë •ê‹ÃÊ ∑§Ë ÃÈ‹ŸÊ ∞ÕŸÊÚ‹ ∑§Ë •ê‹ÃÊ ‚ ∑§ËÁ¡∞ –  

 Compare acidity of phenol with the acidity of ethanol. 1 
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13. ÁŸêŸÁ‹ÁπÃ ‚ «UÊß∞ÁÕ‹ ß¸Õ⁄U ∑Ò§‚ ’ŸÊÿ¥ª ? ¬à̋ÿ∑§ ∑§ Á‹ÿ ⁄UÊ‚ÊÿÁŸ∑§ ‚◊Ë∑§⁄UáÊ Á‹Áπ∞ — 

 (i) ∞ÁÕ‹ •ÊÿÊ«UÊß«U 

 (ii) ∞ÁÕ‹ ∞À∑§Ê„UÊÚ‹ –  

 How can diethyl ether be prepared from the following ? Write chemical 

reaction in each case : 

 (i) Ethyl iodide 

 (ii) Ethyl alcohol. 1 

14. ’„ÈU-•ÊáÊÁfl∑§ ∞fl¢ flÎ„UŒ-•ÊáÊÁfl∑§ ∑§Ê‹ÊÚß«UÊ¥ ◊¥ ÄÿÊ •ãÃ⁄U „ÒU ? ¬à̋ÿ∑§ ∑§Ê ∞∑§ ©UŒÊ„U⁄UáÊ 
ŒËÁ¡∞ –   

 What is the difference between multimolecular and macromolecular 

colloids ? Give one example of each. 2 

15. ÁŸêŸÁ‹ÁπÃ M§¬Ê¢Ã⁄UáÊÊ¥ ◊¥ ¬ÿ̋ÈÄÃ •Á÷∑§◊¸∑§Ê¥ ∑§ ŸÊ◊ ’ÃÊß∞ —  

 (i) »§ËŸÊÚ‹ ‚ ÄflËŸÊÚ‹ 

 (ii) »§ËŸÊÚ‹ ∑§Ê 2, 4, 6-≈˛UÊß’˝Ê◊Ê»§ËŸÊÚ‹ ◊¥ ’˝Ê◊ËŸË∑§⁄UáÊ  

 (iii) »§ËŸÊÚ‹ ‚ ≈˛UÊß»§ÁŸ‹ »§ÊÚS»§≈U  

 (iv) »Ô§ËŸÊÚ‹ ‚ Ä‹Ê⁄U∞ÁŸ‹ –   

 Name the reagents used in the following conversions :  

 (i) Phenol to quinol 

 (ii) Bromination of phenol to 2, 4, 6-tribromophenol 

 (iii) Phenol to triphenyl phosphate 

 (iv) Phenol to chloranil. 1
2  + 12  + 12  + 12  = 2 
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16. ¬˝Ê¬Ÿ‹ ∞fl¢ ¬˝Ê¬ŸÊŸ ◊¥ Áfl÷Œ ∑§⁄UŸ ∑§ Á‹ÿ ŒÊ ‚⁄U‹ ⁄UÊ‚ÊÿÁŸ∑§ ¬⁄UËˇÊáÊÊ¥ ∑§Ê ⁄UÊ‚ÊÿÁŸ∑§ 
‚◊Ë∑§⁄UáÊÊ¥ ‚Á„UÃ ŒËÁ¡∞ –  

 Give two simple chemical tests to distinguish between propanal and 

propanone along with chemical equations. 2 

17. •Ê¬ ÁŸêŸÁ‹ÁπÃ M§¬Ê¢Ã⁄UáÊÊ¥ ∑§Ê •Áœ∑§Ã◊ ∞∑§ ¬Œ ◊¥ Á∑§‚ ¬˝∑§Ê⁄U ‚ ‚ê¬ÛÊ ∑§⁄¥Uª ? 

 (i) ∞‚ËÁ≈U‹ Ä‹Ê⁄UÊß«U ‚ ∞‚Ë≈UÁÀ«U„UÊß«U  

 (ii) ∞‚Ë≈UÁÀ«U„UÊß«U ‚ ∞ÁÕ‹ ∞‚Ë≈U≈U  

 (iii) ∞ÁÕ‹ ∞‚Ë≈U≈U ‚ ∞‚Ë≈U◊Êß«U  

 (iv) ∞‚Ë≈U◊Êß«U ‚ ∞‚ËÁ≈U∑§ •ê‹ –  

 How will you bring about the following conversions in one step ? 

 (i) Acetyl chloride to acetaldehyde 

 (ii) Acetaldehyde to ethyl acetate 

 (iii) Ethyl acetate to acetamide 

 (iv) Acetamide to acetic acid. 2 

18. ÁŸêŸÁ‹ÁπÃ ⁄UÊ‚ÊÿÁŸ∑§ •Á÷Á∑˝§ÿÊ•Ê¥ ∑§ Á‹ÿ ‚¢ÃÈÁ‹Ã ‚◊Ë∑§⁄UáÊ ŒËÁ¡∞ —  

 (i) ∞‚Ë≈UÊŸ ∑§Ë •◊ÊÁŸÿÊ ∑§ ‚ÊÕ Á∑˝§ÿÊ ∑§⁄UÊß¸ ¡ÊÃË „ÒU –  

 (ii) ¡‹Ëÿ »§ÊÚ◊¸ÁÀ«U„UÊß«U Áfl‹ÿŸ ∑§Ë ŒÈ’¸‹ ˇÊÊ⁄UÊ¥ ∑§ ‚ÊÕ Á∑˝§ÿÊ ∑§⁄UÊß¸ ¡ÊÃË „ÒU –  

 (iii) ∑Ò§ÁÀ‡Êÿ◊ »§ÊÚ◊¸≈U ∑§Ê ‡ÊÈc∑§ •Ê‚flŸ Á∑§ÿÊ ¡ÊÃÊ „ÒU –  

 Give balanced equations for the following chemical reactions :  

 (i) Acetone reacts with ammonia. 

 (ii) Aqueous solution of formaldehyde is treated with mild alkalies 

 (iii) Calcium formate is dry distilled. 1 + 12  + 12  = 2 
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19. (i) ∞∑§ ¬Œ ◊¥ ∞∑§ ∑§Ê’Ê¸ÁÄ‚Á‹∑§ •ê‹ ∑§Ê ∞∑§ ∑§Ê’¸Ÿ ∑§◊ flÊ‹Ë ∞◊ËŸ ◊¥ ∑Ò§‚ ¬Á⁄UflÁÃ¸Ã 

Á∑§ÿÊ ¡Ê ‚∑§ÃÊ „ÒU ? ⁄UÊ‚ÊÿÁŸ∑§ ‚◊Ë∑§⁄UáÊ Á‹Áπ∞ –  

 (ii) S¬c≈U ∑§ËÁ¡∞ Á∑§ ŸÊß≈˛UÊ’ã¡ËŸ ∑§Ê ŸÊßÁ≈˛U∑§ •ê‹ ÃÕÊ ‚ÀçÿÍÁ⁄U∑§ •ê‹ ∑§ Á◊üÊáÊ mÊ⁄UÊ 

ŸÊß≈˛UË∑§⁄UáÊ ∑§⁄UŸ ¬⁄U ∑§fl‹ ◊≈UÊ-«UÊßŸÊß≈˛UÊ’ã¡ËŸ ÄÿÊ¥ ’ŸÃË „Ò¥U ?  

 (i) How can a carboxylic acid be converted to an amine in one step 

having one carbon atom less ?  

 (ii) Explain why nitrobenzene on nitration with a mixture of nitric 

acid and sulphuric acid forms only meta-dinitrobenzene. 

    1 + 1 = 2 

20. (i) ªÁ’˝‹ ÕÒÁ‹◊Êß«U ‚¢‡‹·áÊ •Á÷Á∑˝§ÿÊ ŒËÁ¡∞ –  

 (ii) ÄÿÊ ∑§Ê⁄UáÊ „ÒU Á∑§ ∞⁄UÊ◊ÒÁ≈U∑§ «UÊß∞¡ÊÁŸÿ◊ ‹fláÊ ∞Á‹»Ò§Á≈U∑§ «UÊß∞¡ÊÁŸÿ◊ ‹fláÊ ∑§Ë 

•¬ˇÊÊ •Áœ∑§ SÕÊÿË „UÊÃ „Ò¥U ?  

 (i) Describe Gabriel phthalimide synthesis reaction. 

 (ii) Why are aromatic diazonium salts more stable than aliphatic 

diazonium salts ?  1 + 1 = 2 

21. ¬Á⁄UˇÊ¬áÊ ÁflÁœ mÊ⁄UÊ å‹ÒÁ≈UŸ◊ ∑§Ê ¡‹ ◊¥ ∑§Ê‹ÊÚß«UË Áfl‹ÿŸ ’ŸÊŸ ∑§Ê fláÊ¸Ÿ ∑§ËÁ¡∞ – 

©U¬∑§⁄UáÊ ∑§Ê ŸÊ◊Ê¢Á∑§Ã ÁøòÊ ÷Ë ’ŸÊß∞ –  

 Describe the dispersion method for the preparation of colloidal 

solution of platinum in water. Also draw labelled diagram of the 

apparatus. 1 + 1 = 2 
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22. (i) ¡Òfl-•áÊÈ ÄÿÊ „ÒU ?  

 (ii) ¬Á⁄UflÃË¸ œ˝ÈfláÊ ÉÊÍáÊ¸Ÿ ÄÿÊ „ÒU ?  

 (iii) Ç‹Í∑§Ê‚ ∑§ α- ÃÕÊ β-‚◊ÊflÿÁflÿÊ¥ ∑§Ë ¬Êß⁄UŸÊ‚ ‚¢⁄UøŸÊ•Ê¥ ∑§Ê „UÊflÕ¸ ‚¢⁄UøŸÊ ◊¥ √ÿÄÃ 
∑§ËÁ¡∞ –  

 (iv) fl ⁄UÊ‚ÊÿÁŸ∑§ •Á÷Á∑˝§ÿÊ∞° ŒËÁ¡∞ Á¡Ÿ‚ ÁŸÁ‡øÃ „UÊÃÊ „ÒU Á∑§ Ç‹Í∑§Ê‚ •áÊÈ ◊¥ ó 

(a) ‚÷Ë ¿U— ∑§Ê’¸Ÿ ¬⁄U◊ÊáÊÈ ∞∑§ ‚ËœË oÎ¢π‹Ê ◊¥ ¡È«∏U „Ò¥U –  
(b) ∞∑§ ∞ÁÀ«U„UÊß«U ‚◊Í„U ©U¬ÁSÕÃ „ÒU –  

 (i) What are biomolecules ?  

 (ii) What is mutarotation ?  

 (iii) Represent the pyranose structures of α- and β-isomers of glucose 

in the form of Haworth structures. 

 (iv) Give chemical reactions by which it is confirmed that in glucose — 

(a) all the six carbon atoms are linked in a straight chain 

(b) one aldehyde group is present. 1
2  + 12  + 1 + 2 = 4 

23. (i) ∞ÕËŸ ∑§ ◊ÈÄÃ ◊Í‹∑§ ‚¢∑§‹Ÿ ’„ÈU‹∑§Ë∑§⁄UáÊ ∑§Ê S¬c≈U ∑§ËÁ¡∞ –  

 (ii) flÀ∑§ŸË∑§⁄UáÊ ¬˝Ê∑Î§ÁÃ∑§ ⁄U’«∏U ∑§ ªÈáÊœ◊ÊZ ∑§Ê Á∑§‚ ¬˝∑§Ê⁄U ¬Á⁄UflÁÃ¸Ã ∑§⁄UÃÊ „ÒU ?  

 (iii) ∞ ’Ë ∞‚ ⁄U’«∏U ∑§ ◊ÈÅÿ ÉÊ≈U∑§ ∑§ÊÒŸ-‚ „Ò¥U ? ß‚∑§Ê ∞∑§ ©U¬ÿÊª ŒËÁ¡∞ –  

•ÕflÊ 

 (i) ÁŸêŸÁ‹ÁπÃ ’„ÈU‹∑§Ê¥ ∑§Ê ¬˝ÊåÃ ∑§⁄UŸ ∑§ Á‹ÿ ¬ÿ̋ÈÄÃ ∞∑§‹∑§Ê¥ ∑§Ë ‚¢⁄UøŸÊ∞° Á‹Áπ∞ — 

  (a) ¬ÊÚÁ‹∞Á∑˝§‹ÊŸÊß≈˛UÊß‹  

  (b) ≈Uç‹ÊÚŸ 

  (c) ¬ÊÚÁ‹ S≈UÊß⁄UËŸ 

  (d) ÁŸÿÊÁ¬˝Ÿ –  

 (ii) ŸÊÿ‹ÊÚŸ-66 ∑Ò§‚ ’ŸÊÿÊ ¡ÊÃÊ „ÒU ? ‚◊Ë∑§⁄UáÊ ‚Á„UÃ •Á÷Á∑˝§ÿÊ ‚◊¤ÊÊß∞ –  

 (iii) «U∑˝§ÊÚŸ ∑§ ◊ÈÅÿ ÉÊ≈U∑§ ∑§ÊÒŸ-‚ „ÒU ? ß‚∑§Ê ∞∑§ ©U¬ÿÊª ’ÃÊß∞ –  
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 (i) Explain a free radical addition polymerization of ethene. 

 (ii) How does vulcanization change the character of natural ruber ? 

 (iii) Which are the main constituents of ABS rubber ? Give its one 

application. 2 + 1 + 1 = 4 

OR 

 (i) Write the structures of monomers used for getting the following 

polymers : 

  (a) Polyacrylonitrile 

  (b) Teflon 

  (c) Polystyrene 

  (d) Neoprene. 

 (ii) How nylon-66 is prepared ? Explain the reaction with equation. 

 (iii) Which are the main constituents of dacron ? Give its one 

application. 2 + 1 + 1 = 4 

24. (i) ¬˝ÁÃ¡ÒÁfl∑§ ¬ŒÊÕ¸ ÄÿÊ „Ò¥U ? ‚’‚ ¬„U‹ Á¡‚ ¬˝ÁÃ¡ÒÁfl∑§ ∑§Ë πÊ¡ „ÈUß¸, ©U‚∑§Ê ŸÊ◊ 
ŒËÁ¡∞ –  

 (ii) ¬ÍÁÃ⁄UÊœË ∑§Ê ©UÁøÃ ©UŒÊ„U⁄UáÊ ∑§ ‚ÊÕ fláÊ¸Ÿ ∑§ËÁ¡∞ –  

 (iii) ¬˝ÁÃ•ê‹ ÄÿÊ „UÊÃ „Ò¥U ? ŒÊ ÿÊÒÁª∑§Ê¥ ∑§ ŸÊ◊ ’ÃÊß∞ ¡Ê ¬˝ÁÃ•ê‹Ê¥ ∑§Ë Ã⁄U„U ¬ÿ̋ÈQ§ „UÊÃ 
„Ò¥U –  

 (iv) ‚Ò∑§⁄UËŸ ÄÿÊ „ÒU ? ß‚∑§Ë ©U¬ÿÊÁªÃÊ Á‹Áπ∞ –  

•ÕflÊ 

 (i) ⁄¢Uª ’¢œ∑§ ⁄¢U¡∑§ ÄÿÊ „UÊÃÊ „ÒU ? ß‚ ∑§¬«∏UÊ¥ ¬⁄U Á∑§‚ ¬˝∑§Ê⁄U ©U¬ÿÊª Á∑§ÿÊ ¡ÊÃÊ „ÒU ?  

 (ii) ¬Ë«∏UÊ„UÊ⁄UË ∑§Ê ©UÁøÃ ©UŒÊ„U⁄UáÊ ∑§ ‚ÊÕ fláÊ¸Ÿ ∑§ËÁ¡∞ –  

 (iii) ∑§Ë≈U ¬˝ÁÃ∑§·Ë¸ ¬ŒÊÕ¸ ÄÿÊ „Ò¥U ? ŒÊ ÿÊÒÁª∑§Ê¥ ∑§ ŸÊ◊ ’ÃÊß∞ ¡Ê ∑§Ë≈U ¬˝ÁÃ∑§·Ë¸ ∑§Ë Ã⁄U„U 
¬ÿ̋ÈQ§ „UÊÃ „Ò¥U –  

 (iv) Á‚⁄UÁ◊∑§ ÄÿÊ „Ò¥ U ? ß‚∑§Ë ©U¬ÿÊÁªÃÊ Á‹Áπ∞ –  



 11   

SS—41–2—Chem. II  SS–586-II    [ Turn over 

 (i) What is an antibiotic ? Give the name of the first discovered 

antibiotic. 

 (ii) Describe the antiseptics with suitable example. 

 (iii) What are antacids ? Name two compounds used as antacids. 

 (iv) What is Saccharin ? Write its significance. 1 + 1 + 1 + 1 = 4 

OR 

 (i) What is mordant dye ? How is it applied to the fabric ?  

 (ii) Describe the analgesics with suitable example. 

 (iii) What are insect repellents ? Name two compounds used as insect 

repellents. 

 (iv) What are ceramics ? Write their significance. 1 + 1 + 1 + 1 = 4 

    


